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id:ﬂﬁilﬁ SAME [sEEmE| Res | S | | BAne|nsmd [swEns] meE | At | | BE0e| tond [seEns] meE | At
ZENE 2,340 0| 1,170| 3,510 0|%| 3,300 0| 1,650 4,950 0[z| 3,300 0| 1,650| 4,950 0
BEY—ERE 1,010 0 505| 1,515 0|#| 1,320 0 660 1,980 0|#| 1,320 0 660 1,980 0
HME= 1,010 0 505| 1,515 O|%| 1,320 0 660 1,980 0|#| 1,320 0 660/ 1,980 0
MERRE 710 0 355| 1,065 0|#| 1,010 0 505 1,515 0|#| 1,010 0 505/ 1,515 0
RIVTATE 1,010 0 505| 1,515 0|%| 1,320 0 660 1,980 0|%| 1,320 0 660/ 1,980 0

3ND2FEE (FAR) |BEExRE | HomE |»EEng| BedE | AF EXES | oA | pEEng| FBeE | A EXpS | momE | pEEmg| HBeE | 2F
1| ZENE 2,340 0| 1,170 2,340| 1,170|%| 3,300 0| 1,650 3,300[ 1,650(%| 3,300 0| 1,650/ 3,300/ 1,650
ERBY—ERE 1,010 0 500( 1,010 500|#| 1,320 0 660 1,320 660|#| 1,320 0 660 1,320 660
, HE=E 1,010 0 500{ 1,010 500|#| 1,320 0 660 1,320 660|#| 1,320 0 660 1,320 660
. MEREBRE 710 0 350 710 350(#| 1,010 0 500 1,010 500|#| 1,010 0 500/ 1,010 500
RIVTF4TE 1,010 0 500{ 1,010 500|#| 1,320 0 660 1,320 660|#| 1,320 0 660 1,320 660

 EERTCION =+0| vsimg [swmns] sem | A% EANE | mAME |sEEmE| AeE | A5 EANE | momE |aEEmE| AeE | A5
ZENE 2,340 0| 1,170 0| 3,510{%| 3,300 0| 1,650 0| 4,950(%| 3,300 0| 1,650 0| 4,950
HWBEY—ERE 1,010 0 500 0| 1,510|#| 1,320 0 660 0| 1,980|#| 1,320 0 660 0| 1,980
HE=E 1,010 0 500 0| 1,510(#| 1,320 0 660 0| 1,980|#%| 1,320 0 660 0| 1,980
| HERBE 710 0 350 0| 1,060|#| 1,010 0 500 0| 1,510|#| 1,010 0 500 0| 1,510
RIVTF4TE 1,010 0 500 0| 1,510{#+| 1,320 0 660 0| 1,980|%| 1,320 0 660 0| 1,980

 EEPTCION =+0s | vsims [swmns] snm | A% gxpe | mame sEEns| BeE | A Exne | mome [sEEns| BeE | A1
1| ZHBN=E 2,340 1,170 1,170 0| 4,680|%| 3,300 1,650/ 1,650 0| 6,600(%| 3,300 1,650/ 1,650 0| 6,600
HRBY—ERE 1,010 500 500 0| 2,010|#| 1,320 660 660 0| 2,640|#| 1,320 660 660 0| 2,640
, HE=E 1,010 500 500 0| 2,010|#| 1,320 660 660 0| 2,640|#| 1,320 660 660 0| 2,640
" MESEE 710 350 350 0| 1,410{#| 1,010 500 500 0| 2,010({#| 1,010 500 500 0| 2,010
RIVTF4TE 1,010 500 500 0| 2,010|=%| 1,320 660 660 0| 2,640|=%| 1,320 660 660 0| 2,640




